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1. RENEE
ReES 15,791,736 18,242,982 A 2,451,246
RINE 3,900,518 4,192,651 A 292,133
IHE 0 6,800 A 6,800
it 1,046,600 204,816 841,784
BN EERT 20,738,854 22,647,249 A 1,908,395
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BEEMAE 222,768 222,768 0
BERETES 14,770 18,150 A 3,380
HES 10,000 10,000 0
ZDEEEEESE 247,551 250,932 A 3,381
BEEEESE 247,551 250,932 A 3,381
BESE 20,986,405 22,898,181 A 1,911,776
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1. RENEE
KihgE 5,549,011 5,426,451 122,560
iUk 87,972 129,875 A 41,903
HEE 489,000 687,123 A\ 198,123
BB &R 6,125,983 6,243,449 A\ 117,466
2. BEEEE
ElE&&Et 0 0 0
BESE 6,125,983 6,243,449 A\ 117,466
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1. —ARIERKBAE 14,860,422 16,654,732 A 1,794,310
IERRBTE RS 14,860,422 16,654,732 A 1,794,310
BERVIERBESET 20,986,405 22,898,181 1,911,776




